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1 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00 | 0.00 ~ 4.77 5941 | Zhblis | 000 ~ 0.00 | 1.76 8.88 zh s 1.00] 500 ~ 5.00 5941 | Zhblist | 500 ~ 500 1.76 8.88
9 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00| 0.00 ~ 486 60.59 | Zh st | 000 ~ 0.00| 1.65 8.32 zh s 1.00| 500 ~ 520 60.59 | Zh st | 5.00 ~ 520 | 1.65 8.32
3 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00| 0.00 ~ 548 68.38 | #n LISt | 000 ~ 0.00| 1.75 8.84 zhs 1.00| 500 ~ 6.00 68.38 | #n LISt | 5.00 ~ 6.00| 1.75 8.84
4 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zh s 1.00| 000 ~ 6.63 83.65 | #nLis | 000 ~ 6.63| 1.80 9.09 zhs 1.00| 500 ~ 8.00 83.65 | #nList | 5.00 ~ 8.00| 1.80 9.09
5 100kN/mM#%#B x5 1.00| 000 ~ 044 106.45 [3m%EHEZ 5 - ~ — — —| 100kN/m%#8%%| 1.00 [11.35 ~ 12.60 106.45 [3m%EHEZ 5 -~ - — —
zh s 100 | 044 ~ 822 100.00 | ZhList | 000 ~ 822 | 240 12.13 zh s 1.00] 500 ~ 1135 100.00 | Zh st | 5.00 ~ 1260 | 2.40 12.13
6 100kN/mM%#BZ % - -~ - —|3mZE#ZD -~ — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00| 000 ~ 7.51 95.98 | Zn LISt | 000 ~ 7.51 | 2.51 12.70 zhs 1.00] 500 ~ 1159 95.98 | Z#n LISt | 5.00 ~ 1159 | 2.51 12.70
7 100kN/mM#%#BZ % 1.00| 0.00 ~ 0.50 107.35 [3m%EEZ 5 - ~ — — —| 100kN/m%#%%| 1.00 (1208 ~ 13.63 107.35 [3m%EEZ 5 -~ - — —
zhs 1.00| 050 ~ 8.28 100.00 | Z#hList | 000 ~ 828 | 248 12.55 zh s 1.00] 500 ~ 12.08 100.00 | Zh st | 500 ~ 13.63 | 248 12.55
100kN/mM%#BZ % ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD ~
zh s ~ zhnLst ~ zhs ~ zhnLst ~
100kN/mM#%#BZ % ~ InFRBRD ~ 100kN/mM#%#BZ % ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/mM#%#BZ % ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/mM#%#BZ % ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/mM#%#BZ % ~ ImFRBRD ~ 100kN/mM#%#BZ % ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/mM#%#BZ % ~ InFRBRD ~ 100kN/mM#%#BZ % ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/mM%#BZ % ~ InFRBRD ~ 100kN/mM#%#BZ % ~ ImFRBRD ~
zh s ~ zhnLs ~ zh s ~ s ~
100kN/mM%#B 2% ~ InFRBRD ~ 100kN/mM#%#BZ % ~ InFRBRD ~
Zzh s ~ st ~ Zzh s ~ st ~
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